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1. What is the value of the following sum? 1. Calculate the following sum.
99 + 97 + 95 + 96 + 98 2021 + 1202 + 110
A. 490 A A. 3233
C. 484 " 3333
E. None of the above E. None of the above

1.Calculate the value of 7+16+34+45+50—6—15—4-7. . What is the value of the following sum?

g' 17(2)0 902 + 804 + 700 + 609 + 508 + 403 + 307 + 201 + 106

£ 177 A. 4450 B. 4540
D 124 C. 4500 D. 4505

E. None of the above E. None of the above
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9. The four-digit number 17X8 is divisible by 3. If X is an odd digit, find the value
of X.
Al

2

. None of the above

8. The 4-digit number 32B9 is divisible by 3. If B is even, find the digit B. ?}i:feﬂt{;tggr'digit number 3P78 is divisible by 3, how many possible values are
A4
B.3
C:
D. 10
E. None of the above
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25. In the following, all the different letters stand for different digits. What is the 24. In the following, all the different letters stand for different digits. What is the
value of the 4-digit number CDEC? value of the 4-digit number UNDO?

25. In the following, all the different letters stand for different digits.

C DEC

B A B
A CA

Find the value of the 4-digit number RQQR?

25. in the following, all the different letters stand for different digits. What is the value 24. wing, 2 iffer s sta c differ igits. 24 In the following, all the different letters stand for different digits. What is the value

fA+B+C? .
° of the 2-digit number QP?

A B B B

cC C C

A
Find the value of A+ B +B + A.
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. The bee wants to get to th

Each arrow indicates a mo'
Which path can the bee fly
AL =>2=2>4 44
D)=>=>4 444

. For every birthday Maria g

For her first birthday she g
For her second birthday sh
How many teddies in total
(A) 19 (B) 20

. One of the five coins A, B, |

that there are exactly two
Which coin should be mov
(A) A (B)B

. Which two numbers can b

that it is correct?
(A)3and5 (B)4andl

. If a laser beam hits a mirrc

(see small diagram).
Each mirror has mirrored s
At which letter does the la
(A) A (B)B

. Kengu jumps on the numb

He first makes one big jum
keeps repeating the same
He starts at 0 and ends at :
How many jumps does Ker
(A) 4 (B)7

. In the diagram on the right

allowed to have the same |
Which puzzle piece has to

followed?
1
(A) h (B) &

14. Johanna folds a piece of p:
1|2
7|8
14{1

19

8. John uses some building blocks tc
What does John see when he lool

—

5|26
31132|:

(A) (8)

Then she stabs a hole thro
Which four numbers does
(A) 8,11, 26,29

(D) 15, 16, 21, 22

w

. Five cars are labelled with the nur

G«

First the last car overtakes the tw 1
Then the now second to last car ©
In the end the car that is now in t/
In which order do the cars now di

(A)1,2,3,4,5

. Three football teams are
Each team plays each othe
For a win the team scores
For a draw both teams get
Which number of points is

(A)1 (8)2

10. The members of a family of kangz
2,4,5,6,8and 10 years old.
Four of them are 22 years old wh

How old are the other two kangai

(A)2and 8 (B)4and 5

16. Jan sends five postcards to
The card for Michael does
The card for Clara shows tl

The card for Paula shows

(8)2,1,3,5,4 21.

. A pyramid is built from cubes (see diagram).

All cubes have side length 10 cm.

An ant crawls along the line drawn across the pyramid (see
diagram).

How long is the path taken by the ant?

Ansicht von oben

(A) 30 cm (B) 60 cm (C) 70 cm (D) 80 cm (E) 90 cm
20. Aroad leads away from each of the six PY )
houses (see diagram). @ q:PY 2/ ﬁ \\
A hexagon showing the roadsin the ) 4 A /N \ 4
\ / _H /
middle is however, missing. @ | | @ T
8 2 va R 57—\
Which hexagons fit in the middle so that A% 5/ N .,/ \,
one can travel from Ato Bandto E, but @ %\ \HY \\ H /
not to D?
(A)1and2 (B)land4 (C)1and 5 (D)2and3 (E)4and5
5m
Ahmed and Sara move from point A in the direction : ; M KC
: & VANY \
shown with the same speed.
Ahmed walks around the square garden and Sara it
walks around the rectangular garden. W >
How many rounds does Ahmed have to walk to meet L5 » T AB
Sara in point A again for the first time? E 7 :- E H b
(A1 g)2 (€3 (D)4 (E)s P WL L4
10m

Which card does Jan send

11. Mosif has filled a table with numt
When he adds the numbers in eat

should always be the same. He hz

(B) -

(A)
In order to get the same result ev
Which number does Mosif have t
(A)1 (B)3 (C) one of the 1
17. Wanda chooses some of tt

. Aladdin’s carpet has the shape of
Along each edge there are two ro
The number of points is the same
How many dots in total does the «

(A)32 (B) 36

shapes.”
What is the minimum num

(A)2 (8)3

. In a classroom the childrensitinr

In each row there are the same ai 18. The little caterpillar “ 24.
In Robert’s row there are 2 childr
What could it look like thel

In front of Robert there are 2 row
N oo W .

How many children in total are in

(A)8 (B)15

22.

She says: | have chosen e: 23.

Five girls eat plums.

Laura eats 2 plums more than Sophie.

Bettina eats 3 plums less than Laura.

Clara eats one plum more than Bettina and 3 less than Alice.
Which two of the girls eat the same amount of plums?

(B) Alice and Laura
(E) Clara and Sophie

(A) Alice and Bettina
(D) Clara and Laura

The big cube is made up of three different kinds of
building blocks (see diagram).

How many of the little white cubes are needed for this
big cube?

()8 (B)11 (€13 (D) 16 (E)19

(C) Alice and Sophie

I@_’@

Under cards with the same colour, the same number is always
found. If the three hidden numbers in one row are added, one

obtains the number to the right of the row.
Which number is hidden under the black card?

(A) 6 (B8)8 ()10 (D) 12 (€) 14

— 34

— 32
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16. Four rectangles form a shape, and the length of each side of the rectangle is
uncertain, so the shape of the entire shape is also uncertain. For example, Figure 1 and
figure 2 are possible shapes. However, no matter how the length of each side changes,
the perimeter of the rectangle 4BED is always 15cm, and the perimeter of the
rectangle EF/H is always 25cm. What is the maximum area of this entire shape?

t4 B

Figure 1 Figure 2

SCMO7p @M & & 1%
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SN RIFP1-PIR AR R &

B HE B Mg
— A Y 1.3A321-10, count and compare 138 T R enaming % AR 1 fi H 2 3R 10 A0 L
/J \{ EE _13& p\] %I:I 'LD |'|_'_| 2100 A - 2T RIEE Y, WAES
® \ 7 \/\\\ 3. Number bondsf0Family of facts ' 3. 7 BRI RPN S ¥ (equal sharingflequal grouping)
HE |43\ Ordmal numbers 4.5 Fgroupsit E FEfRiL
5.3A1811-20, count and compare LVBEE, MREEER{ : em
6.7 FA 10 number bonds % 2015 PIAN Rk KERIAR 2ARTHNERE, BRKE
7.8 dtens 0 ones LI 100LAPIRIE, compare - o 3hEIHIFRE
LivBE. EAf. KAk, Z&k 4t ah e
J 2N ESA BRI S WEER, Mar— o I ATIA R 1B PP ERT 8
3L EFERES f1E i 2.Duration of 1 hour and half an hour
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— |emmm| | owem | |
— wEEw| | weem ||
| Taem |

What is 100 more than 81737
ese 5~ ees 0909

- it
" What is 100 more than 66?‘.3?l1

100 more than 6173 is 6273, " What is 100 less thon 66737 |

What is 100 less than 61737 e et --’\_._/J

oo = e8® DO
ehe LE L

100 less than 6173 is 6073. \
-100

‘ ~ *\.
5873|5973 | 6073 | 6173 | 6273 [ 6373 | 6473
66?3 6773 | 6873

+100

P3-Chapterl

In which figure will there be 45 shaded squares?

(1) (2) (3)

2023-GEP-R1
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24. o is divisible by 5, A is divisible by 4. Which of the following statements is definitely
true?

Ao+ Aisodd
B: oXo1s odd
C: A+ Aisodd
D:o+o+ A iseven

E:o+A+Aiseven

2023-GEP-R2

(1) Is the result of 1+2 X 3+4 X 5+6 X 7+---+98 X 99 even or odd? Why?

There are 5 cups placed on the table, all facing upwards. Each round, you can flip over 4 cups. Can you
go through several rounds of flipping to make all the cups facing downwards?

KS-P3-0Odd and even
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Kangaroo Study /JME&0i8S

SFREE ()

ie n{a it8 vl H ZeRn ity BFBEHGE
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EHEOHT IR EEpE, i £ A FEER HRkE ot e EE
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BIRISE (—) +I5#[a)ER IR EE FSER R ESI e HSHARM:
EESERE | DR RER | ISEIEEE — SN FER ARG IS0 HEEAR
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Bttt —= k% AT FEER [OEaCEe iERIOREE | BEARRELER
INRF ERRE IR B4R B RiREAR
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S8 ARIRIEIER TR EHF I
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PIRLEE RIS E fEEAIE)SR BR{EEE (—)
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NERTAGR B EATiHE
INEBRESTSE o
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[ Knowledge exploration 1] Hown [Knowle x| [Knowledge exploration 5] How many triangles are there in the figure below?

LT ]

[ Knowledge exploration 2] How mq

AT EI IR R —

g IRA=| 78 o°Q
kS e
[ Knowledge exploration 3] How m:

LT T T

[Let’s trv! ] Ho [Let’s try! ] How many triangles are there in the figure below?

[Let’s try! ] (SASMO-P3-2018-Q17

=




A\, 035 I75i% 1A

S8R5
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1\ AN JEH . [ Questionl ] There are some chickens and rabbits in the cage, with 7 heads and 22 legs. How many

chickens are there in the cage?
JIETMBBE XN A E
24\1'5\%'& } Zﬁ\le-%

| A .
NEEl = A
z~ .
Mot pt [ Question2] 100 monks eat 230 buns, an old monk eats 3 buns, and a young monk eats 2 buns. How
(! Vi S € ; ; ()
JTA gI:I fl:-\j- /[IE many young monks are there’

[ Question3] (2009-NMOS-R1-Q19) There are some chickens, ducks and cows in a farm. The
number of chickens is equal to the number of ducks. There are a total of 51 heads and 160 legs
altogether. How many chickens are there in the farm?
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KS P3:KZX

P27 P3FE{REAIR

Bk ES i TERS tEith
1 | miE EEs CSREEVTEANIE, SRR, 250, SHEGIEREEEE 2F
2 SEHGIG INREEHFITE RNEABSRARNES, SEZEHFKN. B, RENEALT HE
3 ToREE BEEFENES: SENERERNSE NG
4 ZEGRE FIFFEEERT S ST, SUERREL FEGRESN. SETEE0NEE HE
5 BUERE FIRGEER, SHESUERIE, SIEMERURME; YIve, Eahaan Bl
6 SHESHHN F S eSO R A S it
7 SRR EREIHNSRE: 220 "BEIM RERAEHEm FFER
B SEGHH IREENTARNER, RESESEINTTESHER E-]
9 H—iaeR B IEANF—IFEE i, [ViEE
10 A SHEERSTILE Eay=)
P3EZFR

N ES TERE fEth
1 eSS i5a ZoBRANFHAFINEE, FIERNSEER T
2 BRANSEKSR. EAPNERAR, BRSNS ianHsti S
B @ THRANSESNEN, 25k ANEH. BIVAEH i
4 oA, AR HRE IENOEEK HE
5 BRAENEY AR LEEE. AuTaSEraEm e
6 BRSNS s, SRR EE RS A&
7 SRR ST s, SRS SRR SIS RFEE
8 EASTIUINEEES, PSR ER it
9 | SENEE, EREN1, SAEIRRS R RFEER
3 — 32, 3, SNEREE, TEERSER YRR )
BSiass BAEANRSOE: RoE " RER TSR RFEE

EEE TR B IHRABTCaRE IR, BRI RFER

13 RIS FEEER R R ENS ERRTIR FIFER
14 FEERESH BEINEEREER, BAEaNEETR; ARPNERIER RFER
15 TSiEE SARNEIET, BARNSTEsTE X amEm FFER
16 R SHERGATIRE o
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13| HEZKAE | &
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fif B SRR il | 34| 91| A6 |
12 A& tr
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03. ZIHE-F1SH

S RO S IR AN & 3] S 15

(3 points) Smdy the patem helow and fill in ‘he bianks

08 6020 [0S0R) (5620

2 (3 poiats) Study the pattern below and 1ill in ‘e blark

ion 71 How €\
™ many squares are tybdd =i ﬂuniv‘ o

[ Knowledge exploration 6] (SASMO-P2-2020-Q17) How many friangles are there in the figure

total:5¥H2+= 1t

T
oW
2
2

Us try! ] (SASMO-P2-2022-Q17) How many triangles are there in the figure below?






SO TSR

HEMHHISRSS:
1B30H18:30

Part 2: The "PAIS" feedback of each of my modules

number word distance comprehensive

theory geometry  calculation |

Module selwiting problem | problem problem

Full marks

My scores 4

_My scoring M

40.0% 0.0% 80.0% 55.6% 76.5%
rate

Average

. 27.3% 21.2% 34.5% 52.5% 43.3%
scoring rate

number
theory

I'm sorry you didn't do very well in the counting module. Maybe you need
some more systematic advice. The counting module focuses on the method of
enumeration and the principle of exclusion. Enumeration needs to be classified
and ordered so that you can neither repeat nor miss numbers. Question 14, for
example, can be solved by enumeration, enumerated in order from smallest to
largest. The key to the principle of capacitive repulsion is to figure out the
relationship between quantities by drawing a diagram. It is recommended that
you start with basic counting, improve your proficiency with enumeration, and
then try to solve problems using the multiplication principle. Come on! You
will become more and more skilled in counting.

You lost all marks in number theory questions, indicating that you are not very

skilled in the basics of number theory. Number theory is an important b

to study the properties of whole numbers, as well as an important theor

basis of programming and coding, so we must pay attention to it! There are 3

number theory questions in this exam, which are bit-value principlein question
7 and question 33, and parity analysis in question 34. For problems on the bit-|

value principle, it is often necessary to split the number and represent this

number by the number in each digit. 1 believe you will be more and more

skillful during the process of thinking and summarizing.
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